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1. The “Leaning Tower of Pisa” is located in 3. Choose the right answer
(A) Japan 1R - 4
(B) Iran , | 6.18..4.?
(A) 122
(C) Iraq
(B) 12
(D) Ttaly . | ©) 16
‘ (D) 8
(A) oty 6:18:4:7
(B) 3 ‘ (A) 122
©C) J[|=E (B) 12
@ i (C) 16
. (D) 8
- , ' Hfsw Ik fufg |
"WWWW"W@HE 6:18::4:9
(A) ST | @A) 122
B) W (B) 12
(OB - - (© 16 |
(D) Zaifer L . (D) 8 | .

2 1 oof what number is 5 times of 10?

5 ( Choose the correct prefix:
(A) 100 ' 4. Grateful
o
‘ ' (B) un
(D) 405 , (©) en .
1 ' (D) in
(I RATIE EW‘(“T 10-99 5 @9 3(I?
(A) 100
(B) 200 _
©) 250 Fill up the blank:
(D) 405
: 5. He saw me by chance and the
EW%WIO@IS&W@? €A
(A) was stopping
(A) 100 5 m
(B) 200 | (B) stops
(C) 250 (C) stopped
(D) stop

(D) 405
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6. A stretch of sea water, partly or fully

separated by a narrow strip from the main sea, is
called

(A) Isthmus

(B) Strait

(©) Bay

(D) Lagoon ‘ .
R Tt R e T i <t sysyefaicst

SIS 20 o T (e Rifvms = @ s stoe
I O I

(A) @& (Isthmus)
}B(f 2SR (Strait)
(C) Toiaig (Bay)
(D) ©sign (Lagoon)
e foreid st Wi, 7 < et on qoi
T T Wi @S R Hel 95 g fafes v
B, I ST YU e 97
(A) WIeT-HISTeh (Isthmus)
(B) SIeTHITSI (Strait)
(C) TSt (Bay)
(D) WHsae (Lagoon)

7. The time of a clock as seen in a mirror is
3:15. Then the correct time is

(A) 9:15
(B) 9:45
(C) 8:15
(D) 8:45 _ ,
@ SRS qeT R I 36 @S
15 TG o om0 9 7R |
(A) 951 e 15 6
/,B’f 951 (te 45 WG
(C) 8% e 15 5
(D) 86! @i 45 faif s
TS WA S gshl §Hd 3 K 15 fafre tfay,
qfcsh THI TB
(A) 9 =R 15 fafe
(B) 9 R 45 fufre
(C) 8'6]'3T15ﬁ1ﬁ'€ .

(4)

8. Which is a forerunner of the Internet?
(A) INTRANET
(B) WIDE AREA NETWORK
(C) LOCAL AREA NETWORK
(D) ARPANET

sfiRe @G Internet AREANT NATS

(forerunner) 2
(A) INTRANET
WIDE AREA NETWORK
(C) LOCAL AREA NETWORK
(D) ARPANET

fraferfaa %7 =@ Internet afEamnl 3TEd
(forerunner) &17?
(A) INTRANET
(B) WIDE AREA NETWORK
(C) LOCAL AREA NETWORK
(D) ARPANET

‘Select the appropriate meaning of the following
Idioms & Phrases:

9. Blue Blood

/xf Member of reptile family

(B) Blood colour changed to Blue -
(C) Memberof aristocratic ornobel family
(D) Belongingtothe working class society

Fill up the blank with the correct word:

10. The shepherd was looking after the

——— of sheep.
(A) fleet
(B) gang
flock
(D) crew
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11. Whose motto is
glory”?
(A) Indian Navy
(B) ISRO
(C) IAF
(D) Air India

“Touching the sky with

“BI5% ¥ 3R 829 AR ot i Aoy

(motto) ?
(A) TN @
-(B) Al

© =R 99w

(D) T 3Roxy
“Eﬁgawﬁﬁﬂ?ﬁﬁ”ﬁrwmw

(motto) B?
(A) 3feaa Afy
(B) 350
(C) 3o To THo
(D) TR 3fvear

12. Whichis the greatest number that will divide
259 and 847 leaving the remainder 7 in each case?

(A) 47
(B) 168
©) 21
(D) 84
BT @ i e (greatest number)
T 259 @R 847 (F Sl FAET 2COT CHCED T
SR A2
(A) 47
(B) 168
©) 21
(D) 84
et fUeh 31 gl §&Ame (greatest number)
259 A 847 T WM 7RI YA IR 7 Aehl Wwes?
(A) 47 |
(B) 168
©) 21
(D) 84

(5) RB/JW(CWE)/2019

13. Who invented ‘Java’?
(A) Jermine Larson
(B) John Reid
(C) James A Gosling
(D) James Long

e JAVA) & SR w2
(A) &I w1
o
(C) = 9 (atferg
(D) &= =]

‘S (JAVA) m'ér AR T2
(A) I
(B) v Ee

(C) v T i
(D) STy

Select the appropriate meaning of the following
Idioms & Phrases:

14. Bolt from the blue
(A) Noidea
B) A compleie surprise
(C) Informing something bad -
) Thundering

Fill up the blanks:

15. We hope that Papa
(A) will come
(B) is coming
will be coming
(D) come

soon.
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16. River Krishna originates from 18. The maximum “zoom percentage” in
(A) Deccan Plateau Microsoft PowerPoint is
(B) Chotanagpur Plateau (A) 400%
(C) Western Ghats (B) 150%
(D) Eastern Ghats (C) 600%
(D) 100%
T TR Sesifere =
( “Wﬁ Microsoft PowerPoint-4¥ AE® “zoom
(B) C{oAIsi= @ TS percentage” &
(C) ARSI ot (A) 400%
(D) m W (B) 150%
’ (C) 600%
FOM T Il AQ (D) 100%
(A) =it 9 woeed
(B) SITANTE 30 LI Microsoft PowerPoint @l H&id “zoom
(C) ufyaHee ydaaren ' percentage” &
(D) G waHen (A) 400%
(B) 150%
(©) 600%
(D) 100%

18
17. Express gasa percentage.

C(A) 3% . | .
‘: (B) 30% ~ Find the correctly spelt word:

4(;) ;38‘;0 19. (A) Juriesdiction
(D) ° (B) Juresdiction

3
18 \ei D (¢ Jurisdection
18 = woice w1 | /Of
y éﬁ?f (

D) Jurisdiction
A) 3% B . TR
EB; 30% Daily Jobs Update : www.wbgovtjobs.info
(C) 150%
300%

18 :
< TS AT IR TR Find the correctly spelt word:

(A) 3% 20-//4 Accident
(B) 30% . (B) Aceident

(C) 150% (C) Accedent
(D) 300% (D) Acident
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21. The Cqmmonwealth Games, 2022 will be
held in

(A) New Zealand
(B) South Africa
(C) England
(D) Australia

2022 I FANSTAL (o107 Sy 271
/m IBEEGiIY) ‘

(B) w2 wifEst

(©) TS

(D) et

2022 9T HHAAEY T S RE]
(A) FfSieams
(B) To 3fmehr
(C) Tgeams
- (D) sTeeferam

22. Which pair of numbers comes next?

6, 10, 14, 18, 22, 26, 30,
(A) 34,36
(B) 34,38
(C) 38,42
(D) 36,40

I ST T 9F AT A 2
6, 10, 14, 18, 22, 26, 30,
(A) 34,36

(BY" 34, 38

(C) 38,42

(D) 36,40

F SISl HEAT TEh T8I 3T8S?
6, 10, 14, 18, 22, 26, 30,

(A) 34,36

(B) 34,38

(C) 38,42

(D) 36,40

(7)

RB/IW(CWE)/2019

23. Which will come in place of ‘X’?

Moon : Satellite :: Earth - X
(A) Meteor '
(B) Solar System

(C) Planet

(D) Sun

X'-43 GRSy R I 2
oF : Befefg = AR : X
(A) Tz

(B) Geesie

(@ o

(D) &

X' SR % Ew?
TR YU -2 YAt X
(A) 3T

(B) 9R=a

©) us

(D) g3

Choose the correct prefix:

24. Danger
(A) en
(B) ous
(©) ed
(D) er

Find the correctly spelt word:

25. (A) Guarunte
(B) Guaraante
(&) Guarantee
(D) Guarante
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26. Who was called as the “Shakespeare Of
India”? -
(A) Surdas
(B) Tulsidas
(C) Veda Vyas
- (D) Kalidas

_ e @F IE “oRwed CRFPRE
© A i ?

(A) T
(B) oA -
(C) ™
(D) e .
oy Qe 9 oRkfed g2
(A) q&E

(B) gotea™

(C) & =A™

(D) eI

N

27. Fill up the series:

F2, . D8,CIl6, B32
(A) E3
(B) G4 -
(C) E4
(D) A6
R o7 TN
F2, . D8,Cl16,B32
(A) E3
(B) G4
E4
(D) A6
&7 01 TR ¢
F2, D8, Cl6, B32
(A) E3
(B) G4
(C) E4
(D) A

(8)

28. Fill up the series:
v, VII, XI, xiv, XX
(A) XVIL. '
(B) XXII
(C) XV
(D) IX

vn XI Xf’v
(A) XVII
- (B) XXIII
(C) XV
D) IX

T 7Ol T

vV, VIL, XL, XIV, __,
(A) XVII

(B) XXIII

©€) XV

D) X

XX

Select the appropriate meaning of the following
Idioms & Phrases:

29. Raining cats and dogs
(A) Fighting between animals
(B) Raining blows on pets
(C) Fighting between two groups

975 Raining heavily

Find the correctly spelt word:

30. (A) Annalytical
(B) Anelytical
(C) Analitical
(D) Analytical
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- 31. The spacecraft of “Chandrayaan 2” was
launched from

(A) Thumba Equatorial RocketLaunching
Station

~ (B) Satish Dhawan Space Centre
(C©) U.R.Rao Space Centre
(D) Vikram Sarabhaj Space Centre

“PERIT 2 TR BerwTe e

(A) Y1 2RI T 1R o e |

B O e o T o
(©) ﬁwwmmmcml
(D) & AR i ETo @ |

VA 2" TR 9 weror e fora—
(A) I TFRIRTA The ey T o2
(B) Wi ¥ma™ W9 9wt 912

(C) Fo 3o TR TH AR 91

(D) Tasrd |RIME &9 J=X e

32. Amitwasborn 5 yrs before Rakesh. Rakesh
is 3 yrs younger to Anil. If Amit is now 17 yIs old

how old is Anil?
(A) 19 yrs
(B) 12 yrs
(C) 15 yrs
(D) 8 yrs
S AT (AF 5 =T NS Tz T |
A SR (U 3 I (R | T ¥ re 63
T 17 29 T OIS JEA T FO?
(A) 19 I=7
(B) 12 323
15 q=4
(D) 83=7
I S S TRIYT 5 99 31y 9T T
AT 3 w9 Wl | Afg Stfhden! a9 3y 17 9
U, 1fer i o grar?
(A) 19 &H
(B) 12 &8
(C) 1594
(D) 8 &Y

Ms?

RB/JW(CWE)/2019
33. Which day is celebrated as “Computer

- Literacy Day”?

(A) December, 2nd
(B) June, 13th
(C) April, 16th
(D) December, 17th

@R TG “oAC5tx wrraret fiee oo
Afere 3379
- (A) 2 Rome
(B) 139
(C) 16 @iz
(D) 17 53

F f7eT T wrama R Ay wem

(A) 02 femmr
(B) 1354
(C) 16 fyed
(D) 17 fsEw=R

Select the appropriate meaning of the following
Idioms & Phrases:

34, In hot water
(A) Medically useful water
(B) Water in turbulence
(C) Water getting hot suddenly
(D) Trouble with someone

. Choose the correct prefix:

35. Advantage
(A) ub
(B) re
(C) dis
(D) de
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36. Which city is known as “City of Festivals”?
(A) Nagpur
(B) Varanasi
(C) Jaipur
(D) Madurai

(P *2F “TAEE *27” A 7o ?
" (A) oA

SB/) IR

(C) w7

(D) TR ‘
%W“mw”ﬂmﬁqﬁﬁa@?
(A) TR '

(B) SRIUTE!

(C) SR
(D) HIETS

37. A shopkeeper offers a discount of 10% on
his articles. The marked price of the articles is
Rs. 450. What should be the selling price?

(A) Rs. 495
(B) Rs. 400
(C) Rs. 395
(D) Rs. 405

GFGH M O @RIEE EReeeE
10%%@:@@@?@?@%&1&—@450?@1
20 oY [ g o @2
(A) Rs. 495 Ja q |
(B) Rs. 400 1 6
(C) Rs. 395 )
ey
A

Rs. 405

TSI QRGN SR et TFaasm
10% g2 i1 g fafras e 7o Rs. 450 9T,
WW@W*W’

(A) Rs. 495

"(B) Rs.400

(C) Rs. 395

vdally Fur vowiiOaa . Www.gKsO0Ive.COIm

0)

38. The period of “First Generation Computer”
is: |
(A) 1946-1959
(B) 1955-1965
(C) 1945-1979
(D) 1940-1950

“First Generation Computer”~g9 NPl

*(A) 1946-1959
" (B) 1955-1965
(C) 1945-1979

/}6’) 1940-1950

“First Generation Computer” 3 HHIHE ol:
(A) 1946-1959
(B) 1955-1965
(C) 1945-1979
(D) 1940-1950

Fill up the blank:

39. When the Principal entered the class, a
student _ on the blackboard.

(A) is writing
(B) was writing

(C) writes
(D) wrote

=
Fill up the blank:

40. Columbus
(A) had discovered
(B) discovered
(C) has discovered

America.

(D) Rs. 405

(D) discovers
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41. Where is the Tungabhadra Sanctuary

located?
(A) Karnataka
(B) Goa
(C) Mizoram
(D) West Bengal

wIe! TSy (A FIF© ?
(A) 5

(B) (ol

(75 Rcarr

(D) ARsSRCER

TS YIS AHIRVG Hel ST ©7?
(A) FAfeH

(B) 3T

(C) fhsirm

(D) 9f¥= smer

42. Find the value of

-5 5
X X

-3 A 3
X X

(A) x-1
B) 0
O 1
(D) -1

T el

(11) RB/JW(CWE)/2019

(A) Intel 4009
(B) Intel 4004
(C) Intel 4001
(D) Intel 4002

¥ .
(A) 2TBeT (Intel) 4009
(B) 2054 (Intel) 4004
(C) 2T (Intel) 4001
(D) %4 (Intel) 4002

TURH T ARAHEE &
(A) 3=a (Intel) 4009
(B) ¥ (Intel) 4004
(C) $=7 (Intel) 4001
(D) $=<T (Intel) 4002

(A) suspects foul
(B) smells a rat
(C) sees a danger
(D) disbelieve

Fill up the blank:

45. The train had left before I
station.

(A) reaches

(B) reach

(C) was reaching

(D) reached

43. World’s first Microprocessor is

Fill up the blank with the correct word:

fRes &2 SE@EILEEE (Microprocessor)

44. Because of the bitter experienceiof the
past, he everywhere.

the
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46. The country having the lowest population
in the world :

(A) Vietnam

(B) Canada

(C) Vatican City

(D) Peru

- fntRe @ omite weRral SRS T
AT I -
(A) feEeam
(B) F=ICl
(& witfoem B
(D) CoRF

(A) Toaa™
(B) wMTEl

(C) Hfesh fafe
(D) T®

47. The ratio of ages of A and B is 3:5.Bis 8
years elder to A, then what is A’s age? '

(A) 20 years

(B) 15 years

(C) 10 years

(D) 12 years

A €33 B-49 I S 3 : 5 | B-49 07
A-GT (A 8 = (@ e A-9F I 92

(A) 20 T=d AN = 25

(B) 15 I=A 36\ RO

(C) 10 I=F

(D) 12 327

A 31 B I ¥R S B 3 : 51 B H I
A oy 8 et AT 9T, A W S A §B?

(A) 2091

(B) 1594

(C) 10 v

(D) 12 ¥

(12)

48. The term “Pentium” is related to which of
the following?
(A) Microprocessor
(B) Hard Disk
(C) Mouse
(D) .DVD
“coffGs’ (Pentium) S @t A=
FAIETE 2 ,
A) WRCFEEF (Microprocessor)
f(B) 26 5% (Hard Disk)
. (C) WISH (Mouse)
D) f. fs. f©. (D.V.D.)
”m" (Pentium) Wl TR HA E=L|
Tl 97 -
(A) HEHEHE (Microprocessor)
(B) & fewF (Hard Disk)
(C) HISH (Mouse)
(D) feo fito feo (D.V.D)

Fill up the blank with the correct word:
49. Thesaltspray has gradually

the bridge.
(A) corroded
(B) ravaged
(C) demolished
(D) spoilt

Find the correctly spelt word:
'50. (A) Aggrissive

(B) Aggressive

(C) Agresssive

(D) Aggresive -
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51. The surface temperature of sun is around
(A) 9000°C
(B) 4000° C
(C) 6000° C
(D) 3000° C

S ST ST Olewial 2o
(A) 9000 f&fa et
(B) 4000 f&fa Fr=fmy
(C) 6000 fSfa ==
(D) 3000 f&fa E=ttRIPT

AR e HITH SR AT g5
(A) 9000 fefir Gerfaerg
(B) 4000 fefi Saafaayg
(C) 6000 fefir ey
(D) 3000 fefir Jefgag

52. Which is the odd one?
(A) Potato
(B) Wheat
(C) Maize
(D) Rice

oox *wresferg sty wifiist i 2

(A) =g
(B) °

©€) ol
/D'S'Wf
e feuet Yesg® AT 3 et fiee?
(A) o
(B) TE
(C) u%
(D) =T

R —

(13)

53. Who developed ‘COBOL’?
(A) Grame Smith Lawrance
(B) Vin Merchant
(C) Douglas Martin
(D) Grace Murry Hopper

“COBOL”-¢7 fisfret (59
(A) cas 2w

(B) TS Wtss
B s

(D) (s wifg eoitg

“COBOL” &I fHiar < &2
(A) I\ Ty e

B) A o=

(C) <oy mifeq

(D) 9 73U R

Fill up the blank with the correct word:

RB/JW(CWE)/2019

54. My father keeps all his
papers under lock & key.

"~ (A) confidential
(B) necessary
(C) useful
(D) required

Choose the correct prefix:

55. Monthly

" (A) over
(B) bye
(C) anti
(D) bi
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56. Which of the following pairs is incorrect?
(A) Isobars—Pressure
(B) Isochronal-Time
(C) Isotherms-Temperature
(D) Isohyets—Humidity

EkiRe @F el #Afos e
(A) IOI#CEA (Isobars) — B9t
(B) Fa (Isochronal) — Fa
(C) JCIRECR (Isotherms) — Ol
(D) SRHTaal (Isohyets) _ wwel

et e 1 et wiew 392
(A) GHETS @I (Isobars) — =9
(B) TH&e (Isochronal) — ¥HY
(C) §HaTg @l (Isotherms) — ATFHT
(D) e 3@ (Isohyets) — ST

57. Average of 16 numbersis8.1f21is addedto
every number, the new average will be
(A) 14
(B) 11
(©) 10
(D) 12 -

167 wig e 81 IW afelt Aw AR
2 QI T W OIFE FRYNT T T S
(A) 14 :
(B) 11
10
(D) 12

16 GEATH T 8 mﬁ'ﬁsﬁ@@mzm

R q9 T TR ED
A) 14
B) 11
(€) 10
(D) 12

(14)

58. Ifinacertainlanguage, MADRAS iscoded
as NBESBT, BOMBAY is coded in that code as
(A) CQOCBZ
(B) CPNCBZ
(C) CPOCBZ
(D) CPNCBX

| 2 I T oA MADRAS *#{60®
@<l = NBESBT ©IZ 62 ©RR BOMBAY
*Hoe @1 I
(A) CQOCBZ
CPNCBZ
(C) CPOCBZ
(D) CPNCBX

I F Gehfaer WAl MADRAS NEG
NBESBT 1@, @ ¢! SOl BOMBAY ¥saeTis
fes

(A) CQOCBZ
(B) CPNCBZ
(C) CPOCBZ
(D) CPNCBX

Choose the correct prefix:

59. Human
\ (A) non
(B) in

(©) un

(D) de
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60. Instrument to measure heat is
(A) Thermometer
(B) Calorimeter
(C) Lactometer
(D) Barometer

©isl eNT T =5
yxﬁ' clfivE
(B) IitenfzfsoR
(C) oI
(D) IO

9 R T
(A) oHifHE
(B) HENHK

- (C) TRIAR

(D) "Rt

61. Find the value of 3/216
(A) 6

(B) 3:6

(C) 12~

(D) 36

AW el 3

e = 3KG
(A) 6 s
(B) 36

© 12
(D) 36

g1
‘\/3 216
A) 6
(B) 36
(C) 12

(15) RB/JW(CWE)/2019

62. The full form of ‘SQL’ is ¢
(A) Student Query Line
(B) Structured Question List
(C) Straight Query Language
" (D) Structured Query Language

“SQL”-«3 =34 TG 2=
(A) Student Query Line
(B) Structured Question List

(C) Straight Query Language
\ Structured Query Language

“SQL” <l HUl &9 &

(A) Student Query Line

(B) Structured Question List
(C) Straight Query Language
(D) Structured Query Language

Fill up the blank with the correct word:

63. I can not to know

much about it.
(A) contemplate
(B) pretend
(C) conceive
(D) imagine

Select the appropriate meaning of the following
Idioms & Phrases: .

64. To bell the cat
(A) To face the risk

~ (B) Conflict
(C) Make friendship



l-lull’ A A 4 4= vpuutc o WVW ""o"””\l'ljv”o.llllv

RB/JW(CWE)/2019 (16)

_ 65. Eden Garden, the famous Cricket Stadium 67. ‘Microsoft Word’ is an example of

is situated in (A) Input Device ‘
(A) West Indies (B) Application Software
(B) England (C) Processing Device
(C) Australia (D) Operating System
(D) India | ’ -
Wi‘?m e MG Wz “Microsoft Word " Ffeife bz Smiza
(A) STEY R v (A) Input Device
R : _ ) Application Software
(C) wgfermm ' (C) Processing Device

) ©ICe ( (D) Operating System

o fordhe Rfeam ' Sea e sraftem ® _
(A) TR Sfes : . “Microsoft Word” fafeifad shehl 33t 21?2
(B) 3geAIUS . (A) Input Device
(C) srefern . (B) Application Software
(D) ¥« (C) Processing Device

(D) Operating System

68. The first Indian Women Airline Pilot is
(A) Neha Sharma
(B) Babita Savarkar
.(C) Durga Banerjee
(D) Hema Devi

66. 0-123 divided by 10° equals to
(A) 0-000123 '

(B) 0.0123

(C) 0.01023

(D) 123 - - ‘ e s
(A) g =i

0123107 g (6 10 A

(& 0.000123 [oX] (B) ! Aoy

g){ 00123 : ‘ -((D) ’(’ZZTWC%@

(©) 001023

(D) 123

0123 + 10°TS TR o e T o

(A) 0-000123 (A) eyt |

(B) 00123 (B) e wvmam

(C) 001023 | ©) T =t

(D) 123 (D) & fe
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69. Study of insects is known as
(A) Ecology
(B) Etymology
(C) Entomology
(D) Anthology

O NGO ACIINTE AT
(A) TR
(B) 2focierier
(C) GToIEer
(D) yigEE

SIS FrEYa . STEETEE Wi
(A) TehieIS

(B) Sferieitst

(C) TIHIS

(D) TS

70. What number should come next?

2’ 1, %’ %9 ==
1 1
(A) 3 ®) g
- 1
© 3 ® 3
ffeRe (@iq TR0 9 2/t | ?
2! 1’ %’%9‘ =
1 1
}}() % B) 3
: 1
© + ®) 3
% T A TS AR?
11
2,1, % -
1
(A) —é ®B) 3
: 1
© % D) 3

(17) ' RB/JW(CWE)/2019

71. A is B’s sister. C is B’s mother. D is C’s
father. Eis D’s mother. Then how is A relatedtoD?:

(A) Mother-in-law
(B) Grand mother
(C) Daughter
(D) Grand daughter '
A, B-49 (@, C, B-«ﬂéi@ D, C-4a9 JI<,
E, D~q 1| O A, D47 Gz e
(A) e b — A°
(B) o
(C) T .
) el
“A, B dfedl; C, Bal M D, Chl =Tl
E, D! 371 | 79 A 3 S5 D €7 i 2812
(A) TGS
B) a"“’i
(C) s’
(D) et

72. Which among the following is the largest?

p——g©

(A) %of 30

(B) % of 200
(C) 0-2 portion of 20
(D) 50% of 50
Treox el S @ I8 ?
(A) 30-9% -;—

2
(B) 200-9% <

(C) 2047 0-2 S
(D) 50~43 50%

a1 Tt SEeE AEl T <Rl JewH T2
(A) 3&@[%
(B) 200-H %

(C) 20-31 0-2 3
(D) 50-=l 50%
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73. Which of the two planets listed below are
nearer to the Sun than the Earth?
(A) Venus and Mercury
(B) Neptune and Venus
(C) Mars and Saturn
(D) Jupiter and Mercury

fsfie e oz 1o SR s T
06 oo 2
},@6’@@ CERE
(B) (W7H A3 W
(C) To@ @R >

(D) 3T 98 34

ﬁaﬁf&aﬁaéaa%qrua‘rwgdﬁm
aqaﬁsm EY

(A) T 19y

(B) =U< 31 goh

(C) T &I af

(D) geeafd 31+ gy

74. A certain sum of money trebles itself in
5 years simple interest. Find the rate of interest per

annuin.
(A) 50%
(B) 10%
(C) 40%
(D) 20%

G5 TS 30Ty Bt o737t 90 5 e fomeset
(A) 50%
10%
Xg 40%
(D) 20%

o ffdE Yo T R 5 T g Y,

it i e A1 §9

(A) 50%
(B) 10%
(C) 40%
(D) 20%

(18)

75. In whose memory is 5th September

celebrated as Teacher’s Day?
(A) Sarvapalli Radhakrishnan
(B) Mahatma Gandhi
(C) Sardar Vallavbhai Patel
(D) Rajendra Prasad

5 GIEEe 9 gea Suae R e
2 siifere =2 ,
Al R
(B) Il SIIl
- (C) WA qEeIR AN
(D) ANTEE &

e T 5 AR feres feereh T

I TAES?

(A) Hedfeel TS
(B) TRTCHT T4t

(C) TR TecT«s g
(D) TS= JHE

76. Which of the following number is exactly
divisible by 9?7 :
(A) 416138 -
(B) 456138
(C) 447148
(D) 444138

v i 722 9%@@9{1%—1@?
(X) 416138

/(B)’ 456138
(C) 447148

(D) 444138

Frafefed B de 9 g1 wrquiegm favr
&7

(A) 416138

(B) 456138

(C) 447148

(D) 444138
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designated as the
(A) Prime Minister
(B) President
(C) Vice-President
(D) Speaker

EIPTO ooy HEw
(A) aizs fif e

(B) caPTeS

(C), &l (AFires
(y)/ [RaEa |

TIFH TR GHIIIeE w3l s
(A) wgH fafTer

(B) dfae=

(C) vz Afge=

(D) TR

78. In a square field the diagonal is 30 meter:
Find the area of the square field.

(A) 84 m?
(B) 500 m?
(C) 450 m?
(D) 90 m?

a3l qefiein g 39 30 511 92 TeflT
(A) 84 355
(B) 500 3G
(C) 450 3sGI=
(D) 90 3o

T3 g SR kot 30 et & sids
TR STt fremTes] 81 |

(A) 84 sFifHeX

(B) 500 sffieX

(C) 450 TR

(D) 90 iR

(19)
77. The Chairperson of the Lok Sabha is '

RB/JW( CWE)/2019
79. “Geet Govind” is a famous creation of
(A) Jayadev
(B) Kalidas
" (C) Bhababhui
(D) Bana Bhatta

“MeeatiRen” a7 sy 7S R 2=
(;xﬁ TG

(B) wiferwisy

(C) sgfe

(D) 3rreg

“Tﬁwﬁm"@rﬁmq@w@
(A) S/agE

(B) =ifererd

(C) wayfa

(D) sAwg

80. A boy has 5 red balls, 3 white balls and 2
yellow balls. What per cent of balls are yellow?

(A) 12% .
- (B) 20%
(C) 40%
(D) 15%

G5 qreTea 575 w11 9, 3% T 9t @k 2%
T 3 R | O PR TS Al 2o I S ?

(A) 12%

B) 20%

(C) 40%

D) 15%

T3 HeThMHT 5 37T Tl Tgrehl T, 3 o |l
TSI TiTent 311 2 FeT Ueell Tgohl Tiiet! © | SEhIHT hiq
HfoRm TRl TEeh! Tel B2
(A) 12%
(B) 20%
(C) 40%
D) 15%
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81. Which of the following was a leap year?
(A) 1998
(B) 2002
(C) 2014
(D) 2004

T @ ARG W& (leap year) 2w ?
(A) 1998
(B) 2002
(C) 2014

ff 2004

T Teuenl 7 Hiet 3Afeshad (leap year) forir?

(A) 1998
(B) 2002
(C) 2014
(D) 2004

82. - What is 6 more than % of 257

(A) 1833
(B) 15-33
(C) 14-33
(D) 833

I AR 25-99 l-ﬂ?l’ AT 6 @M &=

3

TRIT F© 22

(A) 1833

(B) 15.33

(C) 14.33

(D) 833

zﬁmzmgaﬁasﬁmmm
97

(A) 1833

(B) 1533

(C) 1433

(D) 833

83. The first bank to introduce ATM in India is
(A) Axis Bank
(B) Bank of India
(C) HSBC
(D) SBI

SeARE (@IS 2w« 6. @, QEREIGH

(A) SOIfsRT TRT
(B) S oI 2w
(C) §p. @ R M.
(D) @i . =12,

TR Tl 9H ATM Ui 7701 =ik
(A) Tfrd ik

(B) i 3T gveal

(C) o THo o fifo

(D) 'Qfgo 0 3:|']'§o

84. Find the value of 3-5 x (60 + 2.5)
(A) 84
(B) 10
(©) 001
(D) 84

M et e ¢
3.5 % (60 + 2-5)
) 84
(B) 10
(©) 0.01
(D) 84

ARG T
3.5 x (60 + 2:5)
(A) 84 '
(B) 10

(C) 001

(D) 84
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85. The father of Indian Space Programme is
(A) Mohan Pandey
(B) Ashutosh Verma
(C) Vikram Sarabhai
(D) Rakesh Sharma

T (A) IR ol
(B) ST SIS
(¢f e e

(D) <t =it

RS FETehI <hiZshAehl fudl g1
(A) HIeT qve
(B) gAY i
(OREET KL
£ (D) k¥ IHl

86. Who was the first President of India who
died while in office? .
(A) V.V.Gin
(B) Rajendra Prasad
" (C) Jawahar Lal Nehru
(D) Zakir Hussain

SIATSR 22 (I ATATS 0T IR A

q?
() fe.fe. faif7
(B) Jite™ &AM
(C) TERFEAIT (TRF

}Dﬁ) wifeR T

R el S5 g e T 7 7
(A) i1 fiy fiR

(B) TSI 991Q

(C) SeeElcl 188

(D) ifert g8

(21)
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87. The HCF of 1365, 1560 and 1755 is

(A) 159
(B) 591
(C) 157
(D) 195 -

1365, 156043 1755 7%fera o131, (HCF)

(A) 159
(B) 591
(C) 157
(D) 195

1365, 1560 311 1755 1 HCF

(A) 159
(B) 591
(C) 157
(D) 195

88. 0-4% of 36 equals to

(A) 1433
)(36 0144
() 144
(D) 1.44

36-9% 0-4% 2R

(A) 14.33
 (B) 0-144

(C) 14-4

(D) 144

36 H 0-4% D
(A) 14-33
(B) 0-144
(C) 144
(D) 1.44
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89. Whichof'the following is the heaviest metal?
(A) Lead

~(B) Osmium
(C) Mercury
(D) Gold

RS @ el [ oft e
(A) Bl

(B) eI

(7 A

(D) @

fFrafefed 37 o1q Fevmr wi?
(A)

(B) 3afqgw
(C) g
O)

(22)

Daily Jobs Update

90. Find the value of

120+ (6 + 12 % 2) .

(@A) 4

(B) 40

© 6

(D) 20
T [ e

120+ (6+12x2) =

/(xm
-/ (B) 40

© 6

D) 20
HATgT T
120+ (6 + 12 x 2)
(A) 4

(B) 40

©€) 6

(D) 20

zzof'.‘@b‘
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